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SN M-EEXD
Hm: MRS X4
ool st el EEH-E)
SA-EHB - BAEH) - NRAY - BES 0l & o p/E-F HIDE2
N =X 6,394,648 6,216,628 178,020
= 737,343 638, 127 99,216
X 203,000 203,000 0
AlH] 517,191 487,519 29,672
24| 4,937,114 4,887,982 49,132
s Ree x4 4,069,385 3,871,253 198,132
= 737,343 638, 127 99,216
X 203,000 203,000 0
AlH] 417,191 387,519 29,672
2| 2,711,851 2,642,607 69,244
arg el 3,253,909 3,085,777 198,132
= 685,051 585,835 99,216
X 203,000 203,000 0
AlH] 397,768 368,096 29,672
| 1,968,090 1,898,846 69,244
AUR HESE ZH 88,007 100,346 112,249
= 61,667 70, 111 A8,444
AlH] 7,928 9,070 A1,142
24| 18,502 21,165 ~2,663
401 Al HI YL = TH I 87,704 99,953 £ 12,249
= 61,392 69,836 ~8,444
AlH| 7,892 9,034 A1,142
| 18,420 21,083 A2,663
01 A&l 85,743 97,992 £ 12,249
ongYHE LA 2 85,743,0002 85,743 97,992 A 12,249
=2 60,022 68,466 ~8,444
ALt 7,715 8,857 AT,142
24| 18,006 20,669 ~2,663
UBr HHE WA 12,249 0 12,249
= 8,444 0 8,444
AlH] 1,142 0 1,142
24| 2,663 0 2,663
401 Al HI YL 2 T 12,249 0 12,249
= 8,444 0 8,444
AlH] 1,142 0 1,142
| 2,663 0 2,663
01 A&l 12,249 0 12,249
oYL HHZ LA 12,249,0002 12,249 0 12,249
= 8,444 0 8,444
AlH| 1,142 0 1,142
| 2,663 0 2,663
MWL L FHI(MLYHSH RS- EE 20,824 6, 160 14,664
)
= 10,412 3,080 7.332
AlH] 3,120 924 2,196
24| 7,292 2,156 5,136
401 Al HI L 2 T 20,824 6,160 14,664
= 10,412 3,080 7.332




SN NYEXD
BE: MR X4
el e (29l & 2)
SA-EHB - BAEH) - NRAY - BES 0l & o p/E-F HIDE2
Al 3,120 924 2,196
< Hl 7,292 2,156 5,136
01 A& dl 20,824 6,160 14,664
Odteddoli s Ml 33 20,824,000& 20,824 6,160 14,664
= 10,412 3,080 7,332
Al'HI 3,120 924 2,196
-l 7,292 2,156 5,136
At THO 2 Ktel EHON(MBEMHSHEYMS-BAES 329,495 146,327 183, 168
)
= 164,748 73,164 91,584
AlBI 49,425 21,949 27,476
-l 115,322 51,214 64,108
401 AIEHI XL 2CHYI 329,495 146,327 183, 168
= 164,748 73,164 91,584
AlBI 49,425 21,949 27,476
-l 115,322 51,214 64,108
01 A€ dl 329,495 146,327 183, 168
Odteddolis Al & & 329,495,000& 329,495 146,327 183, 168
= 164,748 73,164 91,584
AlH] 49,425 21,949 27,476
- Hl 115,322 51,214 64,108
FTALIHE XA X = 300 0 300
= 300 0 300
201 L Et2A | 300 0 300
= 300 0 300
01 At 2teltl 300 0 300
OFTA Tl E2dAZ2 222 (8FHl) 300,000& 300 0 300
= 300 0 300
HY2HIH (ME=X1) 262,942 283,093 A 20,151
el 2l 243,189 263,340 A 20,151
el 2| 243,189 263,340 A 20,151
101 Q124 H] 243,189 263,340 N 20,151
03 RIHAZ 22 = 243,189 263,340 A 20,151
oug, =X, S2Ac& 243,189 263,340 A 20,151
T2 33,001 53,152 A 20,151
-guaRLy
2 S4&2S3 3,300,000 /226 Al 2Hx8Al 21,903 42,054 A 20,151
2hx150%+5% x25
Mees(ag=xa) 13,348 13,309 39
E28XE 13,348 13,309 39
ME=XL FIANHEERS EHES 13,348 13,309 39
802 gt&t = DI EF 13,348 13,309 39
02 Al - SHIZEXZEHE S 7,155 7,116 39
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